CFA Level 1

MOCK EXAM 1

Afternoon Session

Time Limit: 3 Hours

1.   George, CFA, a citizen of Germany, is doing business in a neighboring country.  According to AIMR Standards of Professional Conduct, which statement applies to George 's conduct when he is conducting business in the other country?

A. He is not bound by any of the regulations because France and the other country have no jurisdiction in each other's countries.
B. He should adhere to whichever of France's, the other country's or AIMR's rules that impose the highest degree of responsibility.
C. He should only adhere to the securities laws of France even though they do not cover some of the provisions found in the laws of the other country that relate to his work.
D. He should adhere to the securities laws of the other country even though they are not as stringent as those of France.

2.
Charlie, a CFA candidate, got a copy of a computerized stock selection model designed by a former MBA classmate who is a Wall Street analyst.   After spending some time reviewing the program and making a few minor adjustments Charlie showed her new model to her supervisor.   Her supervisor said she did a great job and told Charlie to incorporate net new model in her next industry review, which she did. Charlie has:

A. violated Standard IV(B.5) Preservation of Confidentiality.
B. violated Standard II(C) Prohibition against Plagiarism.
C. violated Standard V(A) Prohibition against use of Material Nonpublic Information.
D. none of the above.

3.
Sheria, CFA, just joined an investment firm and reports directly to Raymond, who heads the department dealing with advisory service to high net worth individuals. To fulfill her duty of informing her employer about following AIMR Code of Ethics and Standards of Professional Conduct, Sheria must inform:

A. the firm's chief executive officer either orally or in writing.
B. her direct supervisor orally about AIMR's requirements.
C. the managing director of the firm in writing about AIMR's requirements.
D. her direct supervisor in writing about AIMR's requirements.

4.
Edison, CFA, supervises a group of research analysts, none of whom are CFA charterholders or CFA candidates. He has attempted on several occasions to get his firm to adopt a compliance system to insure that applicable laws and regulations are followed. The firm's principals, however, have never adopted his recommendations. According to AIMR Standards of Professional Conduct, Edison at this point should:

A. take no action, because the employees are not CFA charterholders or CFA candidates.
B. take no action, because he has fulfilled his obligations under AIMR standards.
C. redesign the compliance system, because no alternative exists that will keep him in compliance with AIMR standards.
D. decline in writing to accept supervisory responsibility until his firm adopts reasonable compliance procedures.
5.     Roy, CFA, manages several pension accounts and directs most of his trades through the Wales Investment Limited. Roy does this because he believes that he gets good executions and Wales Investment Limited provides him with excellent research reports used in the management of these accounts. Regional, a small discount brokerage house, has just approached Roy that it will execute his trades at half the cost of Wales. Regional does not have a research department. According to AIMR Standards of Professional Conduct, if Wales does NOT switch his business to Regional, has he violated the loyalty clause in his fiduciary duties?

A. No, because he already had an established relationship with Wales before Regional's offer.
B. No, if he can determine, in good faith, that the higher commissions are commensurate with the value of the research services he receives and discloses this practice.
C. Yes, because of the prudent expert clause.
D. Yes, because Standard IV(B.1), Fiduciary Duties, says he must minimize expenses.

6.
Samuel, CFA, closely follows the computer industry.  In the course of his research, he discovers that the Stone Limited, a small unknown networking company, has just signed several major contracts. After considerable research, Samuel wrote a strong buy recommendation for Stone.  Management is likely to take a week to approve his report. In the meantime, which standard covers Samuel 's behavior regarding the dissemination of his research?

A. Standard IV(B.4) Priority of Transactions.
B. Standard IV(B.5) Preservation of Confidentiality.
C. Standard V(A) Prohibition against Use of Material Non-Public Information.
D. Standard IV(B.3) Fair Dealing.

7.
Which of the following is a violation of Standard IV(B3), Fair Dealing?

A. Placing orders for your firm accounts before issuing a buy recommendation.
B. Accepting and executing a buy order for a stock that you have recently downgraded from buy to sell
without mentioning the fact to the client.
C. Having an e-mail alert system for your best customers so they can learn about recommendation changes before the firm's regular customers.
D. All of the above.

8.
Doris is a CFA charterholder and the portfolio manager of a technology fund.  She maintains a retirement account with a brokerage firm located in a distant city. According to AIMR Standards of Professional Conduct, which of the following actions should Doris take when he identifies a particularly attractive issue that he wants to buy? Doris should acquire shares for her:

A.
mutual fund and her account at the same time.
B.
own account before acquiring them for her mutual fund.
C.
mutual fund before acquiring them for her own account.
D.
mutual fund but refrain from buying shares from her own account.

9.
Maggie, CFA, is a stock analyst at a large multinational bank trust department.  A company whose stock was held by Maggie's employer and by her mother announced a cash tender offer. Under the terms of the offer, the first million shares tendered would be accepted in full at $50 a share (which was 20 percent above the existing market) and the next one million shares on a pro rata basis also at $50 a share. Maggie immediately called her mother with the news but waited a few days to tender holdings of the trust department. Maggie is aware that her mother's will includes her as the recipient of her investment portfolio. Maggie 's actions violated:

A. Standard III (B) Duty to Employer.
B. Standard IV(B.3) Fair Dealing.
C. Standard IV(B.4) Priority of Transactions.
D. Standard IV(B.5)preservation of confidentiality.

10.
Vincent, a CFA candidate, tells a prospective client, "I may not have a long-term track record, but I am sure that you will be satisfied with my performance.  Over the three years that I have been in the business, my equity-oriented clients have averaged a total return of over 20 percent a year."   The statement is technically correct but Vincent only has a few equity clients, and one of these took a large position in a penny stock (against Vincent 's advice) and realized a huge gain. This large return caused the average of all of Vincent 's clients to exceed 20 percent per year. Without this one investment, the average gain would have been 8 percent per year.  Has Vincent violated the Standards of Professional Conduct?

A. Yes, because the statement misrepresents Vincent 's track record.
B. No, because the statement is a true and accurate description of Vincent 's track record.
C. No, because Vincent is not promising that he can earn this return in the future.
D. No, because the statement reflected the results obtained from an appropriately measured composite return.
11.
Karen is a CFA charterholder and financial analyst who follows the Sun Limited for her firm, Moon investments.  According to AEMR Standards of Professional Conduct, which of the following items would Kamey least likely have to disclose to her supervisor at Moon? The fact that:

A. Karen was on Sun's board of directors.
B. Karen was dating the president of Sun limited.
C. Karen 's sister-in-law worked in the payables department of Sun Limited.
D. Karen 's mother has a trust account that owns 10.000 shares of Sun Limited.

12.
Which of the following statements about Standard IV(B8). Disclosure of Referral Fees, is most correct?



Standard IV(B8) requires the member to disclose:
A. the nature of the consideration and the estimated dollar value of the consideration.
B. the percentage of the member's business that comes from referrals.
C. all referral agreements orally or in writing to any client or prospect that has been referred.
D. none of the above
13.
Gordon is a CFA charterholder and the pension fund manager for a worker's union, The union president informed him that during a union meeting today with Zinc Limited he learned that Zinc will announce several plant closings tomorrow.  Because the worker's union pension has a sizable position in Zinc, the union president wants Gordon to sell the pension's holdings in Zinc today before the announcement is made public. Gordon should:

A. inform AIMR in writing of the union president's request.
B. contact the Justice Department and tell them about the union president's request.
C. tell the union president that this action is illegal and refuse to sell the stock until after the announcement.
D. sell the pension's holdings in Zinc as directed.

14.
Which of the following is one of the four main topics of the AIMR Performance Presentation Standards?

A. Calculation of return.
B. Creation and maintenance of composites.
C. Born statement and B.
D. None of the above.
15.
Which of the following is NOT consistent with AIMR Performance Presentation Standards?

A. Composite returns must include cash and cash equivalents.
B. Presentation of performance must disclose a measure of dispersion of individual component portfolios
about the aggregate composite return.
C. Composite must include all portfolios based on equal weighting.
D. Performance must be presented on a total return basis using accrual-basis accounting calculated using
time-weighted rates of return averaged using the geometric method.
16.
Which of the following violates the AIMR Standards of Professional Conduct on the appropriate use of the Chartered Financial Analyst and CFA mark?

A. Timmy has past Level II and is registered to take the Level III examination. In her resume she states, "I am a Level II candidate in the CFA Program."
B. Timmy has passed all three levels of the CFA Program, has received her charter, and is a charterholder in good standing. She writes on her business card,   "Timmy Wong, Chartered Financial Analyst."
C. Timmy was awarded the CFA designation in 1980 but stopped paying dues in 2000. In her retirement speech in 2001, he stated "I was awarded the CFA charter in 1980."
D. Timmy has passed all three levels of the CFA Program, has received her charter, and is a charterholder in good standing. Her company writes in promotional literature " Timmy Wong is one of two CF As in the company."

17.
Susan's company is participating in an investment analysis project. Her manager gave her a report from another company's analyst, also working on the project, and told her to put it on company letterhead and distribute the report by the end of the day.  Being an AIMR member, complies, which of the following AIMR Standards of Professional Conduct will she probably have broken if Susan complys with her manager instruction?

A. IV(A.2) Research Reports.
B. IV(B.2) Portfolio Investment Recommendations and Actions.
C. IV(B.6) Prohibition against Misrepresentation.
D. II(C) Prohibition against Plagiarism.

18.
John, CFA, wants to undertake an independent consulting practice while employed. He must get written permission from both his employer and the company who is hiring the analyst's consulting services.  According to the AIMR Standards on Professional Conduct, which of the following statements about the permission request is most correct? This permission request to the employer should mention the:

A. type of services he will perform.
B. compensation he will receive.
C. time duration the services are expected to cover.
D. All of the above.
19.
David, CFA, changes his "buy" recommendation on Weath Electronics Limited to "sell" based solely on a conversation between several workers of Weath Electronics Limited he overheard in a bar.  Which standard did David violate?

A. IV(A. 1) Reasonable Basis and Representations.
B. IV(B.2) Portfolio Investment Recommendations and Actions.
C. IV(B.6) Prohibition against Misrepresentation.
D. V(A) Prohibition against Use of Material Nonpublic Information.
20.
According to AIMR Standards of Professional Conduct Standard,April, a CFA candidate, just started her new job as an analyst and plans to make her first visit to a
company. which of the following statements regarding special cost arrangements and gifts is TRUE?  To'comply with the standard, April should accept:

A. only one gift per year from a company.
B. air transportation and hotel expenses on company visits only.
C. company air transportation only if commercial transportation is not available.
D. reasonable expenses and compensation from a company if she notifies her employer properly in writing.
21.
Billy, CFA, tells a prospective client that the earnings of K&K Limited will be $10.05 per share next fiscal year. Billy violated:

A.
Standard V(A) Prohibition against Use of Material Nonpublic Information.
B.
Standard lV(B.2c) Distinguish between facts and opinions.
C. Standard IV(A.lc) Avoid any material misrepresentations.
D. Standard IV(B.5) Preservation of Confidentiality.
22.
According to AIMR Standards of Professional Conduct Standard, which of the following activities violates Standard IV(B.4), Priority of Transactions? An analyst:

A. buys shares for his personal account after all the firm's clients have been informed and their trades completed.
B. buys stock for his own account on a personal instinct while not doing so for his clients.
C. makes trades for his son's account after he trades his institutional accounts.
D. makes trades for his firm's account before handling the client trades.

23.
Stephen, a trainee and CFA candidate, is in his first week with SKL Limited, a local brokerage house. Stephen was given a phone list and told to make a few cold calls to round up some clients. To generate business he has made various statements. According to AIMR Standards of Professional Conduct, in which of the following statements has Stephen NOT made a material misrepresentation?

A. "I personally guarantee this investment. It's a sure winner."
B. "My firm has consistently outperformed the market indexes and will continue to do so."
C. "Trust me, I've been in the investment business long enough to know what I'm talking about,"
D. "My firm cannot provide all the Financial and investment services you need, but we do offer advisory services."
24.
Catherine, a CFA charterholder and an analyst for D&G Investment Limited, is preparing a buy recommendation on the Toys Limited. According to AIMR Standards of Professional Conduct, which of the following is NOT a conflict of interest that he would normally disclose?

A. Catherine 's son has a trust fund that holds a substantial block of Toys Limited stock.
B. Catherine has a consulting contract with the Toys Limited.
C. Catherine 's next-door neighbor works at Toys Limited.
D. D.. D&G is a market maker for the Toys Limited stock.
25.  Amy invests the following amounts at the end of Year1 to Year4:
 Year
 1

 2

 3

 4
Amount
1000

1500

2000

2500

  ($)


If it earns a 20 % compounded interest rate, calculate the accumulated amount at the end of Year 4:
A. $7,000.
B. $8,576.
C. $8,788.
D. None of the above.

26.
There is a bond contains that coupon of $ 80, it pays at the end of each year indefinitely. The coupon payment occurs one year from now and the required rate of return is 12 %. What is the bond worth today?

A. $625.
B. $666.67.
C. $788.78.
D. None of the above.
27.
An analyst constructs a histogram and frequency polygon of monthly returns for aggressive equity funds over a 20-year period.   Which of the following statements about a histogram or a frequency polygon is FALSE?
A. Both a histogram and a frequency polygon provide a graphical display of data found in a frequency distribution on.
B. A frequency polygon is a bar chart of continuous data that have been grouped into a frequency distribution.
C. The height of each bar in a histogram represents the absolute frequency for each return interval.
D. All of the above.
28.
Based on the following information about the returns for 11 bonds, find out the mean, median and mode.
10,10,12,14,16,16,16,17,17,18,19




Mean
Median
Mode

A.
16
16
17


B.
16
15
17


C.
15
15
16


D.
15
16
16

29.
A sample of monthly returns of aggressive growth funds contains 35,20,30,50and 55. Find out the range, mean absolute deviation, and variance of the data set?



Mean Absolute
Sample



Range
Deviation
Variance

A.
17
11.6
415


B.
17
23.2
207.5


C.
35
23.2
415


D.
35
11.6
207.5

30.
A distribution with a mean of 15 and a range of 2 to 25 would be:

A. normally distributed.
B. positively skewed to the right.
C. negatively skewed to the left.

D. Cannot be determine

31.
Which of the following statements about dependent and independent events is TRUE?

A. Two events are independent if the occurrence of one is related to the probability of occurrence of the other.
B. The multiplication rule for probabilities applies only to two independent events.
C. The multiplication rule for probabilities can be used to determine the joint probability of two events that are dependent or independent.
D. None of the above.

32.
There is an investment which has a mean and standard deviation of 15% and 10% respectively. Assume it is a normal distribution, which of the following is False?

A.
The probability of getting a return less than 10 % is about 16 %.
B.
The probability of getting a return greater than 5 % is about 84 %.
C.
The probability of getting a return greater than 35 % is about 2.5 %.
D.
The probability of getting a return between 5 % and 25 % is about 68 percent.

33.
Given that the variance is 289 for a random sample of 500 stocks. Find out the standard error of the sample mean is closest to:

A. 0.67.
B. 0.76.
C. 0.99.
D. none of the above.
34.
An analyst conducts a two-tailed test to determine whether differences between the means of two populations exist: H0: μ1- μ2 = 0 versus H2: μ1 – μ2 ≠ 0. Assume that he populations are independent, normally distributed, and have unequal and unknown variances.  The critical value with 50 degrees of freedom is 2.126. The computed test statistic is t = 1.753. Using a significance level of х= 0.05, which of the following statements is TRUE?

A. Use a t-test to reject the null hypothesis and accept the alternative hypothesis.
B. Use a t-test to accept the null hypothesis and reject the alternative hypothesis.
C. Use a z-test to reject the null hypothesis and accept the alternative hypothesis.
D. Use an z-test to accept the null hypothesis and reject the alternative hypothesis.

35. 
Which of the following statement about the following frequency distribution is FALSE?
	Return Interval 
	Frequency 

	0% to 5% 
	20 

	> 5% to 10% 
	10 

	> 10% to 15% 
	20 

	> 15% to 20% 
	30 


A. The cumulative absolute frequency of the third interval is 50..
B. The cumulative absolute frequency of the fourth interval is 30.
C. The return internals are mutually exclusive.

D. None of the above.

36.
Which of the following statement concerning about the arithmetic mean is FALSE? 

A.
It is less than or equal to the geometric mean.
B.
It is a commonly used measure of central tendency.
C.
It is equal to the median and mode in symmetric distributions.
D.
None of the above.

37.
There is a group of stocks containing 7,8,9,10,10,10,11,12,13 and 30. Which of the following statement about the distribution is TRUE?

A.
In this distribution the median is 12.
B.
This distribution's arithmetic mean is 10 and the median is 11.
C. The distribution is skewed to the right and the mean is less than the median.

D. The distribution is skewed to the right and the mean is greater than the mode.
38.   The following shows the mean monthly returns of four securities.

	Security
	Mean Monthly Return
	Standard Deviation

	1
	0.3
	0.4

	2
	0.6
	0.6

	3
	1.3
	4.8

	4
	1.7
	5.2


Which security has the lowest and highest level relative risk?


Relative
Dispersion


Lowest
 Highest
A.
  1
   3

B.
  2
   3

C.
  3
   2

D.
  4
   1

39.
Which of the following statement concerning about the probability concepts is TRUE?

A. A joint probability is the probability that two or more events happen concurrently.
B. Subjective probability is a probability drawing on observation.
C. A random variable is a quantity whose outcomes are certain.
D. None of the above.
40. 
Which of the following statement about the normal distribution is FALSE? 

A. It is completely described by its mean and standard deviation
B. It has a skewness of 1.
C. It is bell-shaped.
D. None of the above.

41.
There is a bond portfolio return of 10 % and estimates a standard deviation of annual returns of 4 %. Assuming normality assumptions for returns, which of the following statement is FALSE?

A. The 90 percent confidence interval will be 3.10 percent to 17.8 percent 
B. The 95 percent confidence interval will be from 2.16 percent to 17.84 percent.
C. The 99 percent confidence interval will be from -0.32 percent to 20.32 percent.
D. None of the above.
42.
There is an investment which contains an expected return and standard deviation of 10% and 5 % respectively. Assume that it is normally distributed, calculate the chance of losing money.
A. 4.5%.
B. 3.5%.
C. 2.5%.
D. none of thee above.

43.
Which of the following about the a desirable property of an estimator is FALSE?

A. Unbiasedness.
B. Efficiency.
C. Heteroskedasticity.
D. Consistency.
44.
According to the crowding-out effect, which is effect by using the sales of government bonds to finance to finance excess government spending?

A. Increases in GDP.

B. increase in private investment spending.
C. decrease the real interest rate.
D. raise the real interest rate.
45.
Based on the following data, what is the excess amount that the bank could loan out?

· Reserve requirement: 20%

· Cash on deposit with Federal Reserve: $50 million

· Loan: $80 million

· Demand Deposit: $150 million

A.
$20 million.
B.
$40 million.
C.   $60 million.
D.   No additional loans.

46.
Which of the following statements about adaptive expectations is FALSE with adaptive expectation?
A. Decision makers make random errors but they make systematic errors with rational expectations.
B. Decision makers adjust more slowly than those with rational expectations.
C. Decision makers base their future expectations on actual outcomes observed during recent periods.

D. None of the above. 

47.
Under the competitive price-searcher markets, the firm will earn in long-run equilibrium and;

A.
normal profit

B.
substantial economic losses.
C.
substantial economic profits.
D.
zero economic profits.
48.
Based on the law of comparative advantage, joint output will be greatest when each country;

A. import goods when foreigners are willing to supply them at a lower cost than domestic products.
B. specializes in producing those products they do best.
C. both statements A and B.
D. none of the above
49.
A Japanese buy equipment from U.S. In the foreign exchange market, this transaction will create a:

A. a supply of yens and demand for dollars.
B. a demand for yens and supply of dollars.
C. a demand for both dollars and marks.

D. a supply of both dollars and yens.
50.  In balance-of-payments transactions, the current account:

A. measures the flow of all loans and investment funds. 
B. equals imports minus exports.
C. record of all transactions with foreign nations that involve the exchange of merchandise goods and services, current income derived from investments, and unilateral gifts.

D. None of the above.
51.
Given that the real rate of domestic and real rate of United States is 8% and 5% respectively, the spot exchange rate is 3D/$, what is the expected forward exchange rate.

A. 2.73.

B. 2.92.

C. 3.09.

D. none of the above.

52.  
Which of the following will cause a currency's bid-ask spread will narrower if?

A. The bid-ask spread is for a small transaction rather than a large one.

B. The bid-ask spread is a spot quote rather than a forward quote.

C. The currency is inactively traded.

D. All of the above.

53.    As compared to the completed contract method, the percentage completion method will result in:

A. lower total assets.

B. greater cash flows. 

C. greater volatility of income. 

D. lower net income.

54.
Which of the following would cause the aggregate demand curve shift to the right?


I.
an increase in real wealth


II.
an increase in incomes abroad.


III.
an increase in expected inflation.


IV.
an increase in the real rate of interest.


A.
I, II & III only


B.
II, III & IV only.


C.
III & IV only.


D.
None of the above.

55.
If the Federal Reserve wants to reduce the money supply, it would most likely:.
A. reduce the discount rate.
B. reduce the reserve requirements.
C. reduce government expenditures
D. sell the of government securities..
56.
Which of the following statements about the supply and the demand of money is TRUE?

A. The supply of money is determined by the monetary authorities and the demand for money is directly related to the money interest rate.
B. The supply of money is determined by commercial banks and the demand for money is directly related to the money interest rate.
C. The supply of money is determined by commercial banks and the demand for money is inversely related to the money interest rate.
D. The supply of money is determined by the monetary authorities and the demand for money is inversely related to the money interest rate.
57.  
If there is an unanticipated increase in the money supply, it will initially exert its primary impact on:
A. inflation, particularly if excess capacity if present.
B. prices, if the economy is not operating at full employment level.
C. output and employment rather than on prices.

D. None of the above.

58.
Which of the following curve does the law of diminishing marginal returns explain?

A. average variable cost curve.
B. average fixed cost curve.
C. marginal average cost curves.
D. short run cost curves.

59.
If the firm is price taker, it will tend to expand its output until:

A. the market price equals the marginal cost.
B. its marginal revenue is negative.
C. its marginal cost is greater than the marginal revenue.
D. none of the above.

60.

If the exchange rate value of the British pound goes from $1.7 to $1.5, then the pound has:

A. depreciated and the British will find U.S. goods cheaper.
B. depreciated and the British will find U.S. goods more expensive.
C. appreciated and the British will find U.S. goods cheaper.
D. appreciated and the British will find U.S. goods more expensive.
61.
Which of the following statement about exchange rates is FALSE?

A.
In regular local direct exchange rates the dollar is always in the denominator.

B.
Non-U.S. dollar foreign exchange rate quotes are called cross rates.
C.
When the exchange rate goes from 0.8 DEM/USD to 0.4 DEM/USD the mark has depreciated relative to the dollar.

D. All of the above.

62
Give that the average number of days the inventory in stock is 60 days, calculate the inventory turnover ratio:


A.
5


B.
6


C.
7


D.
Cannot be determined

Based on the following data to answer Questions 63 to 65.

A company had the following changes in its balance sheet accounts:

An increase in accounts receivable
$50

A decrease in accounts payable
$40

An increase in inventory
$60

Sale of common stock
$150

Repayment of debt
$20

Depreciation
$10

Net Income
$700

63.
The company's cash flow from operations is:

A.
$750.
B.
$640.
C.
$560.
D.
none of the above.
64.
The company's cash flow from investing is:

A.
$0.
B.
$5.
C.
$100.
D.
$150.

65.
The company's cash flow from financing is:

A.  $20.
B.  $130.
C.
$150.
D.
none of the above.
66.
Study the following information, calculate the free cash flow.

· Cash flow from operations
=
$ 1,100

· Purchase of plant and equipment
=
70

· Sale of land
=
50

· Issuance of debt
=
350

· Payment of dividends
=
80

A.
$1,100.

B.
$1,080.

C.
$1,430.

D.
none of the above.

67.
Given that the current ratio is 2.0 times if we use cash to settle the short-term liability. How would this transaction affect the current and quick ratios?

Current Ratio
Quick Ratio
A.
decrease
decrease
B.
decrease
remain unchanged
C.
increase
increase

D.
increase
remain unchanged

68.   The following statements about external liquidity is True exempt:

A. The number of shares traded during the time period is a measure of external liquidity.
B. The smaller the number of shareholders the greater the liquidity.
C. The smaller the bid ask spread the greater the liquidity.
D. All of the above.
69.
Assuming continued deflation, using LIFO will have a ______ current ratio than using FIFO, and the difference will _______ as time passes.


A.
higher, increase


B.
higher, decrease

 
C.
lower, increase


D.
lower, decrease

70.
In periods of inflation and increasing inventory quantities, FIFO, compared to LIFO, results in:
A.
higher cash flows.
B.
lower working capital.
C.
lower net income.
D.
higher cost of goods sold.
71.
If a company using last-in first-out (LIFO) reports an inventory balance of $25,000 and a LIFO reserve of $5,000, the estimated value for the inventory on a first-in first-out (FIFO) basis would be:
A.
$10,000.
B.
$20,000.
C.
$30,000.

D.
$40,000.
72.
Assuming the company continues to invest in new assets, the use of accelerated depreciation methods instead of straight-line depreciation will lead to:
A.
lower return on assets.
B.
lower return on equity.
C.
lower net income.
D.
all of the above.
73.
Assume the tax rate is constant, based on the following information, calculate the balance of the deferred tax account at the end of the second year?

· The company acquired the asset for $8,000.

· The asset will generate$5,000 a year.

· The company's tax rate is 40 %.

· For tax purposes, the asset can be straight-line depreciated over 4 years.

· For financial accounting purposes, the asset is depreciated straight-line over 5 years.

A.
$0.

B.
$240.

C.
$480.

D.
none of the above.

74.   Which of the following statement about temporary and permanent differences is FALSE?

A. Permanent differences are differences in taxable and pretax income that never reverse.
B. Temporary differences are differences in taxable and pretax income that reverse in future years.
C. Both temporary and permanent differences result in deferred tax consequences.
D. None of the above.

75.
If a company has a long-term "take or pay" commitment with its major supplier. What the financial analyst should do when calculating the company's financial ratios:
A. ignore the arrangement.
B. discount the minimum future commitment and add to the company's debt.
C. discount the minimum future commitment and added to the company's debt and assets.
D. None of the above.

Use the following data to answer Questions 76 to 78.
Net Sales
$2,500
Cost of goods sold
800
Increase in inventory
80
Decrease in A/R
70
Increase in A/P
90
Cash Interest Paid
30
Dividends paid
120
Cash interest received
40
Sale of common stock
300
Retirement of long term debt
100
Purchase of equipment
120
76.
The cash flow from operations is:
A.
$1,580

B.
$1,790

C.
$3,210.

D.
none of the above.

77.
The cash flow from investing is:
A.
-$30.
B.
-$120.
C.
$120.
D.
none of the above.

78.
The cash flow from financing is:

A.
-$80
B.
$80.
C.
$320.
D.
-$320.
79.
A major effect of the institutionalization of securities markets is?


A.
The development of a National Market System.


B.
The increase in block trades.


C.
Both A and B.


D.
None of the above.

80.   Study the following data, calculate the return on equity for 2001 and 2002.

	
	2001
	2002

	Pre-interest profit margin (EBIT/S)_ 
	0.3            0.15
	0.15

	Asset turnover (S/A) 
	2
	2

	Leverage multiplier f A/E) 
	2
	2

	Tax retention rate (1 – t) 
	0.8
	0.8

	Interest expense ratio (I/A) 
	0.06
	0.06


2001

2002

A.
0.864
0.384


B.
0.673
0.271


C.
0.384
0.864

D.
0.271
0.673

81.
Which of the following statement about indexes is true?

A. The Nikkei-Dow Jones average is a price-weighted index of stocks from the first tier of the Tokyo Stock Exchange.

B. New York Stock Exchange Index is a price weighted index.

C. The Value Line Composite Average is a price weighted index.

D. None of the above.

Study the following information to answer Q82 to Q84.
Sales=$1,000
Total assets=$3,000
Equity = 55%

Current assets = 55%

Current liabilities =35%
Earnings after taxes = 20%

82.
Calculate the debt-equity ratio:

A.
18%.
B.
36%.
C.
72%.
D.
none of the above.
83.
Calculate the current ratio:

A.
0.77.
B.
0.96.
C.
1.57.
D.
none of the above.
84.
Calculate the after tax return on equity (ROE:
A.
6%.
B.
12%.
C.
24%.
D.
None of the above.
85.
Which of the following statements about leases is TRUE?

A.
To be a capital lease for the lessor, it must also be collectable and contain no significant uncertainties concerning unreimbursable costs.
B.
If the lease is a capital lease and the lessor is a dealer or seller of the leased equipment, it is a sales-type lease on the books of the lessor.
C.
If a lease is a capital lease and the lessor is not a dealer in the leased asset, it is a direct financing lease.
D.
All of the above.

86.
Which of the following statement about capital structure theory is TRUE?

A. In a Modigliani and Miller (MM) world with taxes, but no bankruptcy cost, companies would be expected to take on a low proportion of debt.
B. In a world with taxes and bankruptcy costs, an optimal capital structure is occurred where the cost of capital is minimized and share price is maximized.
C. In an MM world with perfect capital markets, the average cost of capital is not constant and the capital structure does influence its stock price.
D. None of the above.

87.
Based on the following information, calculate the expected growth rate in earnings.

· Return on equity: 25%

· Payout Ratio: 40%

A.
11%.
B.
13%.
C.
15%.
D.
None of the above.

88.
Which of the following is the effect of capitalization of interest costs into self-constructed asset?

A. Operating Cash flow decrease

B. None of the above.

C. Investing Cash flow increase

D. Investing Cash flow decrease

89.
An investor is most likely to buy long when she expects:
A.
an increase in the stock's cash dividends.
B.
an increase in the stock's price.
C.
a decrease in the stock's price.
D.
none of the above.
90.
If a portfolio manager does not have access to superior analysts, what is the roles of a portfolio manager in a perfect market:
A.
diversify to eliminate systematic risk.
B.
rebalance the client's portfolio when changes are necessary.
C.
minimize total transaction costs but not the taxes.
D.
none of the above.
91.    In the top-down valuation process, what is the order that the analyst should perform:

1. Analyze the prospects for various industries.

2. Analyze the individual firms in the industries.

3. Pick the best stocks in the best industries under the economic forecast.

4. Examine the influence of the general economy on the securities markets.

A.
1,2, 3 and then 4.
B.
3, 2, 4 and then 1
C.
4, 1,2 and then 3.
D.
4, 2, 3 and then 1.
92.   
There is a stock paying a $5 per share dividend three years from today (D3). It is estimated that the dividend growth rate will stabilize at 8 percent. Assuming that the investors want to earn 15 percent on investments, calculate the stock value today :
A.
$38.69.
B.
$43.72.
C.
$53.99.
D.
none of the above.
93.
Based on the following information, calculate the price earnings ratio.

· Dividend payout ratio: 50%

· Required rate of return: 15%

· Expected future growth rate: 10%

A.
5.
B.
10.
C.
15.
D.
none of the above.
94.
Which of the following statements about the relationship is true, when describe the relationship among the nominal risk-free rate (NRFR), the real risk-free rate (RRFR), and the expected rate of inflation E(I)?
A.
Both RRFR and NRFR include E(I).
B.
NRFR = [l + RRFR][l+E(I)]-l.
C.
RRFR = NRFR + E(I).
D.
None of the above.
95.    The following shows the estimation of free cash flows in millions at the end of each of the next five years:
 



Year 
1

2

3

4

5
  Amount
5

10

15

20

25


•   The company's stock will sell at a multiple of 30 times predicted free cash flow to equity in five years.
•
The required rate of return on equity for the company is 30 percent.

Under the free cash flow to equity model, the estimated value of the company is closest to:

A.
$178.73 million.
B.
$232.33 million.
C.
$385.16 million.
D.
none of the above.
96.    Which of the following statement about how various embedded options benefit the issuers or the bondholders is TRUE?
A.
Accelerated sinking fund provision favors the issuers.
B.
Conversion provision favors the bondholders if the stock price rises.
C.
Right to put favors the bondholders.
D.
All of the above.
97.
Which of the following concerning about out different types of bonds is FALSE?
A. Municipal bonds are traded in the over-the-counter market.
B. Unlimited tax general obligation bonds are backed by the full faith and credit of the issuer's entire taxing power.
C. Federally related institutions issue securities directly in the marketplace but Government-sponsored enterprises generally do not
D. All of the above.
98.
One of the four C’s of credit quality is:

A.
Callable.


B.
Capacity.


C.
Control.


D.
Both A and C.

99.
The value of a 5-year semi-annul zero-coupon bond with a$500 maturity value and 9 percent discount rate is closest to:
A.
$307.87.
B.
$321.96.
C.
$500.
D.
none of the above.
100.
The following information is about a 20-year bond;
· A yield to maturity of 13%

· 10 percent semi-annual payments

· A Macaulay duration of 8.3 years
If the market yield rises 80 basis points, what will be the effect on the bond's price?
A.
rise 6.2 percent.
B.
fall 6.2 percent.
C.
fall 62 percent.
D.
None the above.
101.
Which of the following statements about futures contracts is TRUE?
A.
Futures are unique contracts that trade on an organized exchange.

B.
Futures contracts are guaranteed by the exchange clearinghouse.
C.
Both statements A and B.
D.
None of the above.
102.
Which of the following statements about puts and calls is FALSE?
A. A put holder will exercise the put if the price of the stock less than the strike price.
B. The most the writer of a call can lose is the stock's price less the premium.
C. The most the buyer of a call can lose is the strike price.
D. Both statements A and C.
103.
John buys a stock for $42 a share and immediately sells a call option with an exercise price of $50 for a premium of $5 per share. Ignoring dividends and transactions cost, calculate the maximum profit that the writer of this covered call can earn if the position is held to expiration?

A.
$6.
B.
$8.
C.
$13.
D.
none of the above.

104.
Which of the following statement about the description of currency swap is TRUE?
A.
The periodic interest payments are exchanged in full each period.
B.
Notional principal is exchanged at the termination of the swap.
C.
Notational principal is exchanged at the initiation of the swap.
D.
All of the above. 
105.
Which of the following statements about valuation techniques for real estate is FALSE?

A. The income approach to valuation projects the property's value as the present value of its net operating income before taxes.
B. The cost approach to valuation is based on what it would cost to rebuild the property at today's prices
C. All of the above.

D. None of the above.

106.
Which of the following statements about the description of REITs is FALSE?
A.
keep 75 percent of their assets in real estate investments.
B.
hold each investment for at least 10 years.
C.
earn 75 percent of their income from real estate investments.

D.
none of the above.

107.
Based on the following information, calculate the real risk free rate.

· Nominal return: 10%

· Inflation: 4%

A.
3.22%.
B.
5.77%.
C.
6%.
D.
none of the above.
108.   Which of the following  about the description of the security market line (SML) is false?

A. The SML will shift downward in a parallel fashion if inflation expectations increase.
B. The SML will shift upward in a parallel fashion if capital markets tighten.
C. The SML will rotate counterclockwise if risk perception increases.
D. None of the above.
109.  Which of the following can be used to describe the risk level that investors usually pursue in the investor life cycle?

Accumulation
Consolidation

Spending
A.
high risk
moderate risk

low risk 

B.
moderate risk
moderate risk

moderate risk

C.
high risk
high risk
        
low risk

D.
moderate risk
high risk


high risk

110.  Investment portfolios on the efficient frontier are superior to all other available portfolios because they offer the highest return for their level of:

A.  beta.

B.  covariance.

C.  coefficient of variation.

D.  standard deviation.

111.   Which of the following statement about the industry lifecycle is FALSE?

A. The sales growth rate is high but profits margins are low in the rapid growth phase.
B. A new industry is always brought by a technological breakthrough.
C. In the stabilization phase profit margins tighten and return on equity approach normality.
D. None of the above.
112.
Which of the following is NOT an underlying assumption of technical analysis?

A. The interactions of supply and demand, determined the market value of good.
B. Supply and demand are governed solely by rational behavior.

C. Market price behavior can be used to observe the actual shift in supply & demand.
D. None of the above.
113.
Which of the following is NOT an example of stock price and volume techniques involving technical analysis?

A.
Short interest ratio.
B.
Moving average lines.
C.
Support and resistance levels.
D.
None of the above.
114.

Which of the following statements about the constant growth dividend discount model is most correct?
A.
The growth rate must be more than the required rate of return.
B.
The estimated required rate of return is the same as dividend yield.
C.
The price is the present value of future dividends.
D.
None of the above.

115.
Which of the following is the least likely reason for the investors to consider when constructing a global portfolios?


A.
Low positive correlations between asset returns.


B.
Low potential risk-adjusted returns than in domestic financial markets.


C.
Greater investment opportunities than investing only in domestic financial assets.


D.
Both A and C.

116.
Consider the following graph of the Security Market Line (SML). The letters X, Y, and Z represent risky asset portfolios. The SML crosses the y-axis at the point 0.07. The expected market return equals 13.0 percent. 




Based on the above information and graph provided, which of the following statements is CORRECT?

A.
The correct label for the x-axis is average risk.

B.
Portfolio Y is undervalued.

C.
The expected return for Portfolio Z is equal to 14.8%.

D.
Portfolio X’s required return is greater than the market expected return.

117.
The following shows the data about three stocks:

	Stock
	Beta
	Estimated Return

	A
	1.5
	18.0

	B
	1.1
	13.8

	C
	0.5
	8.0


Given that the risk-free rate is 5% and the risk-premium on the market is 8%, find out whether the stock is undervalued, properly valued, or overvalued?



Stock A
Stock B
Stock C

A.
Undervalued
Properly valued
Overvalued


B.
Undervalued
Overvalued
Undervalued

C.
Overvalued
Overvalued
Undervalued


D.
cannot be determind

118.  Which of the following is FALSE when describing the relatively low correlations between national stock markets that reduce risk through international diversification?

A.
local monetary and fiscal policies. 

B.
industrial structure and currency movements.

C.
regional economic events.

D.
    none of the above.

119.
If the number of stocks in the portfolio increases, what is the effect on and unsystematic risk?
Systematic Risk
Unsystematic Risk
A.
Remains constant
Decreases 
B.
Remains constant
Increases

D.
Decreases
Decreases
C.
Increases
Remains constant
120.
Which of the following statement about the differences between APT and CAPM is FALSE?

A. CAPM specifies the factor included in the model, while APT does not.
B. APT is a general version of the CAPM.
C. APT requires more assumptions than CAPM.
D. All of the above.
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